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INSTALL AND RUN BRL-CAD
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[DIRBUILD: 0.009 user + 0.009 sys in 0.009 elapsed secs (100%) [
Additional #malloc=283, #free=0, #realloc=4 (283 retained

000000ED0753D190 TOL 5.000000e-004 (sq=2.500000e-007) perp=1.000000e-006, para=9.999990e-001

BRL-CAD Release 7.26.0 The BRL-CAD Optical Shader Library
Mon, 29 Aug 2016 10:39:32 Eastern Daylight Time, Compilation 0
clifford.yapp@ARLAWKLS18400

Additional #malloc=2053, #free=0, #realloc=1 (2053 retained!

: 0.001 user + 0.001 sys in 0.001 elapsed secs (100%)

1, #realloc:

GETTRE!
Additional #malloc=1069, #free:

(1070 retained)

.. ..
PRED: 1e-005 user + 0 sys in 1e-005 elapsed secs (100%)
Additional #malloc=20, #free=0, #realloc=4 (20 retained
NUBSP: 0 nu, 0 cut, 1 box (1 empty

Tree: 1 solids in 1 regions

Model: X(-250, 250), ¥(-250, 250), 2(-500, 500)

View: 0 azimuth, 90 elevation off of front view
orientation: 0, 0, 0, 1

Eye_pos: 0, 0, 3464.1

[size: 1000mm

Grid: (1.95313, 1.95313) mm, (512, 512) pixels

Beam: radius=0.976563 mm, divergence=0 mm/lmm

Mode: scanline-per-CPU buffering

SHOT: 0.651 user + 0.651 sys in 1 elapsed secs (65.1%)
Additional #malloc=572, #free=0, frealloc=7 (572 retained
49601 solid/ray intersections: 38565 hits + 11036 miss
pruned 77.8%: 147007 model RPP, 0 dups skipped, 0 solid RPP

Frame 0: 262144 pixels in 0.16 sec = 1610715.82 pixels/sec

Frame 0: 196608 rays  in 0.16 sec 1208036.87 rays/sec (RTFM)
Frame 0: 196608 rays  in 0.65 sec 302009.22 rays/CPU_sec

Frame 0: 196608 rays  in 1.00 sec = 196608.00 rays/sec (wallclock;

Raytrace complete.
mged> Abhishek Kumar |

cent=(-0.000 -0.000 -0.000) sz=1000.000 mm az=270.00 &l=90.00 tw=0.00 ang=(0.00 0.00 0.00)
Keypoint: TGC V: (0, 0, -500)
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